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6.NS.8

____1.  The coordinates of point A are (- 6, 4). The coordinates of point B are (3, 4). Which 
              expression represents the distance, in units, between points A and B ?   (2013)


   A.  |−6| + |3|		     B.  |3| − |−6|		C.  |−6| + |−4|	   	    D.  |4| − |−6|


____2.  Point G is the point (3, -1)
[image: ]
Which point is 5 units from point G?   (2013)

A.  point A		B.  point B		C.  point C		D.  point D

_____3.  The coordinates of the vertices of a rectangle are (–2, 3), (4, 3), (4, –4), and (–2, –4).
[bookmark: _GoBack]              What are the dimensions of the rectangle?  (2014)

A.  1 unit by 2 units			C.  7 units by 2 units

B.  1 unit by 6 units			D.  7 units by 6 units
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